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O5.= &l 1,680
SHECMHE TE OFAI2X 24
7,000 x2H*10L x12& 1,680
207 HFIHEHI 7,350 0 7,350
02 MAHEHI 7,350 0 7,350
ORHS HSTHB TABAE
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OE2S 2B At 2 &Il 7Y
15,000,000& x 14! 15,000
OJIHNH M2 42 4 & &)1+ 24,000
-NMIt & &I 16,000,000& * 14 16,000
=A==l 4,000,000& *2CH 8,000
O8tlls 22 MIF & &3¢ 23,000
-Nots &DI 15,000,000& * 14! 15,000
A== 4,000,000 =2CH 8,000
02 A7 105,000 55,000 50,000
ORFES HETAHZ TARY
10,000& *2,500 25,000
OL5E H2CHB THTY
10,000& *2,000 20,000
OB2E 2T AHZ TA7Y
10,000& *2,000& 20,000
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Al 7,800
-2 4l 7,000 «10H 20+ 123 16,800
= 5,880
Al 10,920
201 Let2d| 14,414 30,792 A 16,378
= 7,207
Al 7,207
01 AtE222|H] 11,000 13,410 A2,410
O1.d8t=ZH| 11,000
“JHZAI2FAZ Yet=EH| (301 4)
11,000,000& 11,000
= 5,500
Al 5,500
02 =222l 3,414 17,382 A 13,968
O1.352=% 3,414
SHEAIRE HEAY SS2SLHMAI(3H L)
3,414,000 3,414
= 1,707
Al 1,707
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Al 270
301 LetEAazg 4,800 4,800 0
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O1.g8t=Z | 44,467
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-SHE ¢ 2,500 3004 750
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-EATR ARE(EFENY 55)
40,0002 x65 *42] 960
S EElI= T 100, 0002 62 A 600
SR=0) HolARB(2HO0IA) 2
500& 700K 350
-SAD ¥ T2 EHPY
250,000 »4CH 13 1,000
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-HAES E YEH 2Y 100,000& x12& 1,200
-St&EA 72 30,0003 x5t Ax12& 1,800
-MY 0| BEHESE 2L(100¢)
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-&olerdae] HdHsEY 160,000& 128 1,920
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“Hetx Ea 500,000& =13 500
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4= A ESH 2,000,000 x12& 24,000
O5. 2l 3,360
- N OFUUIIZRA 24
7,000 x2H«20L x 128 3,360
02 =234l 52,640 51,860 780
O1.2323<HA 39,590
—dE2E 500,000& =13 500
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-A=%Xltl 3,698& *1,744m’ 6,450
-agAld HE & B 600,000& 600
- e EHLE 2 HiHES s RA2
| 1,500, 000& *23| 3,000
-OXENZA JIHEWM 3,000,000& 3,000
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01 =LA bl 3,600 4,680 A 1,080
OB 28 L HXOH
60,000& x3H x5 x4 3| 3,600
301 L2 AZ 6,760 6,760 0
10 At HIE& 3 4,000 4,000 0
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30,0003 x20H »23| 1,200
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03 A2 20,860 18,720 2,140
OZAZ L SAO 2 A 5,120
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~AECHDEH THTY 10,0008 +200 2,000
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~E a0 HIE 70,0002 %274 <23 280
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101 Q14| 7,630 3,667 3,963
04 JIZHIZNSES 7,630 3,667 3,963
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